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Attempt any ifive questions.

Use of simple calculator is allowed.

l. (a) D€scribe the Crude Rate of Natural Increase and Peaxl's

Vital lndex, giving their relative rnerits and demerits.

(r) Calculat€ the General Fertility Rate, Total Fertility Rate

and the Gross Reproduction Rate for the following data"

assuming that for wery 100 girls 106 boys are bom : 6,9

Age of women Ag!-.SFR

lt-l9 2t:2619 98.0

6. Write short notes on any lhtee of the following

(0 Stable Population

(O Us€s of Life Table

(ii, c€nsus m€thod of collecting daa

(iv) Depend€ncy Ratio. 3x5

(a) Infant mortality Rate (IMR) is not a probability rate.

Exphir

(b) What do you mean by r&t€ and ratio of vital events ?

(c) Explsin Age Specific Death Rrte (ASDR). write its

dcmerits. 3t5
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(2 ) '718',7

ztD 162800

30-34 145762

35-39 128109

44,-44 1M2tl

45_'4,9 8t753

(o\ Describe Myer's Index for the measurement of age

accuracy in evaluation of age dara.

(b) Explain the different errors occurred in collecting

demographic data. 7,E

(a) Explain the different columns of Life Table along with

their relation and prove that :

4.1582

139.7

98.6

4.8

16.9

(3) 7W

(a) Explain Direct and Indir€ct method of standardisation

of death rate.

(b) Find the standardised death ra& by Indirect method for

the following data : 9$

Populrtion A

Specific Death

Ratc

(
Age

3.

05

5-15

15 50

50 and

above

5. In usual notations prove that (a!,Ity ,hree) :

2m

58

24

t9

69

e,=l-!:lf:::

(b) Given that the complete €xpectation of lif€ at ages 30

and 31 for a particular group are respectively 21.39 and

20.91 years and that the number living at age 30

is 41176. Find (r) the number that attains the age 3l

and (r, the number that will die without attaining the

age 31. 9,6
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(iv) L

1=r,/t,

2+ n,

I d,, where /*, = 0

3x5

Standard Population

(in '0m)

Popul.tion Spc.itic Death

Rate (in'00{})

Populetion

l8

37

l5

20

fi

25

20

70

23

25

20
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